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QUESTION 1

Using the "normal” schedule, given Activity 3001 and the relationship with Activity 4001, what is indicated?
A. These activities are concurrent with Activity 4001 starting 15 days after the start of Activity 3001.

B. These activities are concurrent with Activity 4001 starting 15 days earlier than the start of Activity 3001.
C. The activities occur in series with a 15-day lag.

D. The activities run concurrently.

Correct Answer: C

QUESTION 2

Determine the correct formula and date for the late finish for Activity 2002.
A. LS.2003 - 1 day -> 11.06.01.

B. LS.2003 - 1 day -> 10-06-01.

C. LS.2003 + 1 day -> 10-07-01.

D. LS.2003 - 1 day -> 10-05-01.

Correct Answer: D

QUESTION 3

If no time extensions are granted and all actual delays are as described above, what will the total float calculation be at
the end of the project?

A. 0 calendar days.

B. -14 calendar days.
C. -20 calendar days.
D. 10 calendar days.

Correct Answer: B

QUESTION 4
Which of the following is NOT true?

A. Remaining durations can exceed original durations.
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B. Constraints can interfere with the longest path calculation.
C. Multiple calendars can affect the total float calculation.
D. A network must contain only one Critical Path.

Correct Answer: A

QUESTION 5

What is the cycle time?

Small Tower Crane
Typical capacity for a Smell Crane
Maximum Load 5 tons

Minimum Load 1.5 tons [\“}

Operation Time (in minutes)

Sling Up

Hoist Lp

Discharge

Clear Unload Area

P ol L | o [ LT

Hoist Cown

A. 5 minutes

B. 17 minutes

C. 14 minutes

D. 6 minutes

Correct Answer: B
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